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LINIT-=1

1. faf Whar is elastcity of demand? Explain
the method of measuring elasticity of
demmand uszing the total outlay or
expenditure nethod 2+47=4

e

i) Dscuss the scurcity dehnition of
ceonomics accerding 1w Rebbins
Explain the basic cconomic problems.

247=9
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2. fa}
fiz)
3. fa}
fhj
4. fou
b
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Uxtr—I1

E}iplﬂil'l Hicks theorem: ol ncoime eJect
with the help of a diagram, G

O

What is an indillerence curve? Explain
how a consumer attains equilibrium
with the help of indifference curve, 2+7=0

Uxrr—Ijl

What is praduction function? Explain
the difference between returna to factor

and returns to acale. 24 T=0
Or
BExplain the Cobb-Douglas production
furnciion. o]
Unr--fV

Define cost,. Why ig the short-run
average cost curve U-shaped? 247=9

Ll
Analvze the difference between real and

pecuniary economics of acale. O

[ Confiriged |



{3)

UNIT—V
5. ju) Explain Bentham's and cardinalist
eriteria af social wellare. 44+ 414=0
i

fb  What is welfare economica? Discuss the
problems in measuring socidl wellare.
2+ T=9
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A. i a Tick V) mark apainst the correct answer !
E=l0=10
1. Find out the correct statement,

fo) Deductive method descends from general to

the particular i b

k) Inductive method descends from general to
ithe particular { !

{e) The ¢laasical economists stood for inductive
method i ).

{dl Deduchve method tcpends i 4|
experimenintion (1

I7



P2

2. The degree w which the quentity supplied
responds to price changes is called clasiicily of

fa) substitution i i

(b} supply L)

fe) demand )

fd} Nomne of the above { ]

3. The law of varable proportions assumes
f}  all facwors varahble i i

&l all factors fixed i |

{c} one factor fixed and other factors
variable i )

fd} one lactor varable and other factors
fixed | ]

4. The consumer is m cgquilibnivum, when

MU, P,

feal == i |

MUH Py
b e i ()

MUy Py

MU, P, :
W, P,

o Y

{d) Nene of the above i 3
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. Who believed that it is nol posaible to rmake am

ane better off without making some worse off 7

far Pigeu £ !
(bl Pareio { }
fcl kaldar |
fd) Hicks { )

f. In the short run, when the output of a firm
increases, 178 average fixed cost

] NCTEASCS [ |

b} decreases i i

fcr remains constanlt [ [

fd hirst declines and then rmises | '

=

Whichk curve represents  the relationship
between the income level and the guantity of
commodity purchased by the consumer

changes?

fa] Lotenz curve i ]

i) Demand curve { }

fe?  Epgel curve i i

fd) MNone of the above [}

Ha fHra— 100 7
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& When the ozl utiliny is maximum, the marginal
utility is

fa) mimmum | }

{h] maximurn { )

jel  rero [ %

fd] Nome of the above ( )

0. Which enterion of welfare economics, advocatc
ecqual distribwion of national income?

fer} GNP [ ]

{h} Bentham i !

fe) SBoeial welfare function EA
fd} Cardinalist T

10. The concept of marginal cost is closely related to
which of the follpwing?

fa) Variablt cost | }

b)) Fixed cost £

fej  Opportunily cost i !
fd] Economic cost |
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B. Indicate True (T} or False (F) by a Tick {#) mars :
1 xS5m3

1. The scarcitvy definition of cconomics was
asropounded by Alired Marshall.

[ At

+ Cardinal aporoach uses equimarginal utility to
cxplain consumer equulibrium.

i e A e

3, Returns to scale iz a long-run production
function.

Pt Fi)

& Average fixed cost curve is never U-shaped.

o e

5. Adam Smith implicitly accepted the growth of
GNP, as a welfare crilena.

T & )

1R Eeo-100OT
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SECcTion—II
{ Marks: 10}

C. Writc short notes on any five of the following @ 2x3=10

1. Deductive method

Baf Eoo-101 007
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2. Censumer surplus

BasEen 300007
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3. Ordinal unht
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4, Explicit cost
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5. Concepl of opporiunity cost
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6. Iso-quant or isc-product curve

3afEoo=-FOHONT
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7 FEroonomic anc sccial wellare
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8. Basic conditions of Pareto optimalbity
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